
Issue   E.1

Feb 2013 PB

REF # 752496

Is
s
u
e
  

E
.1

F
e
b
ru

a
ry

  
 2

0
1
3
 P

B
R

E
F

 #
 7

5
2
4
9
6

Part Number: 552496 Quiet Shredder

Introduced - 2006

QUIET SHREDDER

(Outside Edge) 552404 Quiet Shredder

Introduced - 2005

ELECTRIC SHREDDER



Page 2
When ordering PLEASE QUOTE PART NUMBER & Description, NOT Illustration No.

QUIET

SHREDDER
Powered By: 2400 watt electric motor

Issue   E.1

Feb 2013PB

REF # 752496

20

21

22



Page 3
When ordering PLEASE QUOTE PART NUMBER & Description, NOT Illustration No.

QUIET

SHREDDER
Powered By: 2400 watt electric motor

Issue   E.1

Feb 2013PB

REF # 752496

Item   Part Description Qty

 No     No

Item   Part Description Qty

 No     No

1 536358 Handle, Housing Top 1

2 536360 Housing, Top Chute 1

3 536359 Funnel, Chute 1

4/5/6 536218 Switch-On/Off Assy 1

5 *Switch-Reversing 1

6 *Switch, Overload Protection 1

7 536351 Capacitor 1

8 536309 Fan, Motor 1

9 536362 Motor Assy, W/Gear 1

10 536220 Blade, Quiet Shredder 1

11 536221 Block- Retainer 1

12 536259 Adjusting Bolt, Cutter 1

13 536361 Housing, Motor 1

14 536363 Leg, Support LH 1

15 536364 Leg, Support RH 1

16 536357 Foot, Leg Support 2

17 555114 Axle-Wheel 1

18 536222 Wheel 2

19 536308 Button Pin, Wheel 2

20 567292 *Bolt, M6x55 HT 8.8 2

21 501703 **Washer, M6 2

22 501764 Nut, M6 Hex Nyloc 2

      *  Supplied with the unit = M6x50 Allen Head x 2

      ** Not supplied with the standard unit

NOT  ILLUSTRATED

536233 Allen Key,  5mm

536234 Ring Spanner,  10mm  A/F

536235 Bag- Catcher,  Fabric

556907 Plunger  - Accessory

554027 Owners Manual - Quiet Chip/Shred



Page 4
When ordering PLEASE QUOTE PART NUMBER & Description, NOT Illustration No.

QUIET

SHREDDER
Powered By: 2400 watt electric motor

Issue   E.1

Feb 2013PB

REF # 752496



Page 5
When ordering PLEASE QUOTE PART NUMBER & Description, NOT Illustration No.

QUIET

SHREDDER
Powered By: 2400 watt electric motor

Issue   E.1

Feb 2013PB

REF # 752496

Switch Assembly showing the placement of wires



Page 6
When ordering PLEASE QUOTE PART NUMBER & Description, NOT Illustration No.

QUIET

SHREDDER
Powered By: 2400 watt electric motor

Issue   E.1

Feb 2013PB

REF # 752496

Switch Assembly showing the placement of wires



Page 7
When ordering PLEASE QUOTE PART NUMBER & Description, NOT Illustration No.

QUIET

SHREDDER
Powered By: 2400 watt electric motor

Issue   E.1

Feb 2013PB

REF # 752496

Other components showing the placement of wires


